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angle of projection is i
(A) 30° (B)
(C) 45° (D) 75 .
defa+b+1’a,b
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is a commutative group- f
inverse of a, then adlis equa1
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Hiﬁﬁd.z Gt foIIowc;r;g is correct omiam o
._y. = )’V __X _0 _}"L"\"\
ynlA) ——5 +xy =0 & \X"" () ==y
co> dx a(’“ - dx m
T _l g m%‘ 2 @ '\—»‘Zﬂ()r\(
‘“”"”}B) O B PG (B) d—Z+y=0 ° 1 i
g L sAv W}'fl X i g
i (C;:szy xPiy=o \/“S 2y dy f 01 ki
2 e 1% ok Aud =4 St
F"" q"*'rf“d dx L) (C) x d)(2+xdx+y_0 £
L T i Y oV OB
RGN o )
(D) dey ng+y=0 T SR ML BN |
P dx®> d 7 Yy
Mt i i) PG-0
>‘V\‘1' 5 - ey 6/C
%tf),,_((y-n/) ) '“"Y o S G
@ 'm'(>'l/’ 1 — v:)

PoOCod

SHOT &N POCO M2 PRD



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

_ Xdy
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y dx
X logy +y
(A) —=—2 Xlogy-y
y logx +x ) ylogx - x
(©) W ) y logx - x
ogy +y X logy -y

77, sin? (X + ly) %1 aredfe w2
(A) % [1 + cos 2x cosh 2y]
(B) % [1 - cos 2x cosh 2y]
(C) % [1 + sin 2x sinh 2y)
(D) % [1 - sin 2x cosh 2y]

78. HH AT ‘a’ Tk T 1 31599 © 31k
O(a) = 30, O(a'8) s 2

(A) 2 (B) 5
() 6 (D) 10

79. Er_f?.' K_aﬂtlé ey 39 YR &
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Real part of sin? (x + iy) is

1

(A) 2 [1 + cos 2x cosh 2y]
1

(B) ) [1 — cos 2x cosh 2y]
1

(C) > [1 + sin 2x sinh 2y]

1
(D) > [1 —sin 2x cosh 2y]

Let ‘a’ be an element of a group and
O(a) = 30, O(a'8) is equal to

(A) 2 (B) 5
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©) 2

(B) 1
(D) abc
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81. Let G be 2 cyclic group of ;G
Then, the number of elemM®
suchthat G = <g> is
(A) 2 (B) 3
(C) 4 (D) 5
el
82. The smallest value of positivé. inted .
n, for which (1 + )" = (1 -1 LA s
(A) 2 (B) 4
(C) 6 (D) 8
8 L iy
83. Ifthevectors xi—3j+7kand ! .
Xy -
are colinear then the value of —~ 2B
equalgto - £
= of)
o 7 : 11 o SR .
6
(G o 208 QLY
=6 R o9 =
)= o~ 9
7 B\l , Y721 Zic
(D) none of the above 4 Ve / o
2k
84. Ifa, b, are in arithmetic progression 2
¥+1 X+2 x+a
then the value of| x +2 %+3 X+D
X+38 X+4 A+C
is \ (e —
(A) O (B) 1
C) 2 (D) abc
85. If sin (6 +i0) = tan o. + i sec o then
cos 26 cosh 2¢ is equal to
(A) 3 (B) 2
(C) 6 (D) 4
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86. HHWT: Bﬁ.iﬁ.ﬁ%n 39, . s ar T 86. Two uniform solid spheres COmpoggy -
8 veref @ J of the same material and having thej
i 3 L et T radii 6 cm and 3 cm respectively a,-;
PRy F¥z Grgf fary firmly united the distance of the Centrs
TS Fz ) e of gravity of the whole body from g
Y centre of the larger sphere is
(A) 4§54 (B) 3.« (A) 4 cms (B) 3cms
©) 2¥.x (D) 1% .5 (©) 2cms (D) 1cm :
4
87. =g A= [ ; 2] F 3T g ? 87. The eigen values of the matrix
A< 4]are S/)\\"“\)A{'o :
() 6,0 (B) 3.2 i) o ~Aa%dl 40
A 6, 2 =]
(C) 6,1 (D) 1,2 ((C)) 6. 10 ((g)) 13:22 (17, AL =
88, Z%A ww STT=gE g}’ a 88. !fA isa singular matrix, then A. adj(A)
- adj(A) I i B =
(A) T e (A) an identity matrix )L’ cd "(\l 3 9
(B) @y (B) anull matrix el
(©) T P'T&W (C) a scalar matrix £ ;
(D) 37 & @ 3¢ 7 (D) none of the above a)A W L
: 2 ":T
({8 e i = dy ) ke =1 Y
89. Ife éx) e SRy = 1(x), 5 89.  If f(x) xig andy=f ,_(X)' then 5 %
é isequalto
1
s Blive—r7 S 1
(x+3) (x~1) @ e (=) Py
X=2 1 X—2 1
c — L = —
(© S (D) (x+ 12 (©) s (D) T o
90. I Y@y ay +by + ¢ = 0 wgey V2=xa 90.  If the line ax + bu@;o touches the
99 et &, a‘fﬁnf%«r%aﬁﬁ:mg}% ? parabola y2 — X, then which of the
L —aay
(A) ‘abéis 1 (B) b2= 4ac followmg IS correct ?
. (A) abe = 1 (B) b2 = 4a¢ _ MQ
(C) a2 = 4pc (D) ¢?=4ap A (C) a2 = 4be (D) 2= 4ap
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their o1 [x:__z_ ga;mﬁ . e 9 0 ,f
‘are b e Nﬁ‘éiﬁmqa% 91. In the expansi f x* 2,} L AN
intre () 48 ¥ pansion o [—4’ 2 r‘\ T\
I the 3 (B) o term from the end is o 4\/6 \
(A 28 ® /Y
64 X . )
S © 3 Gijs o = /
92. ®uF A : voIw T x° el o
o A TR & qouat 92. StatementA : Every isomorphi® imeg
EEADS 997 2l of a cyclic group is cyclic. AP
b + 8o HUA B : TF T TR Statement B : Every cyclic 9"
R e b il abelian.
Then
A) 3t
DAL O B)ﬁAHWBW‘é (A) Both A and B are true
(B) AT B 7T & (B) Both A and B are false
i(A) © AT R (C) Ais true only i
ar L= (D) ¥ Bue 2 (D) Bis true only {
e 93. TH STl 9 R L= It 93. A hemisphere rests in equilibrium On )
T & SO TR & o | 2) af a sphere of equal radius. If the flat !
ST T R9er 9o e | g & 2 surface of the hemisphere rests onthe ]
‘ Tl I8 FrEE & sphere then this equilibrium is
(A) = (A) Stable
(B) 31 (B)-Unstable =N
(C) 3| (C) Neutral C\
¢ ,»'/
(D) ST | & TS e (D) None of the above
¥ 37
1 St 1 q |21
94, auf lim [n Fri +E]é5 94. The sum of the series 5 1\ e )
} .9(@ . nso(n N+l n+2 4n
"y v is equal to M
(A) 0 (B 0 2 A0¢ 7(/5§ ; ®) 1
+(C) Iog 3 D) logs A= (¢) 1og3 (D) log 4
& h AR
2 e : A &%
e § - LRGN LS K
WQ mat 23 — PG-06/C .
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95. T?F?tx2+y2+z24.x+y+z=4 e 95. The radius of sphere
A) 3 Xe4y2 422 b xpy+z=4is 1
( (B) 4 (A) 3 (B) 4
Vie 19 19 J19
SR (0) g (©) —‘/4: (0) -
96. f=fifaa s w frem EAE L 96. Consider the following statements
|;i sechx = sechx tanhx |;i sechx = sechx tanhx
dx dx - «
- 1 1
Il —sinh'x = R SR
dx [y .dxsmh x-\/;(z_+1
faffam d da/a a7 which of the following is/are true ?
(A) Fae | (B) Fae || (A) only | (B) only Il
(C) 13 NaE (D) Al AR NI (C) land Il both (D) neither I nor Ii
97. AR V wh n-farfia afew gafe 2 qom v 97. If Vis a n-dimensional vector space
W T U g SR T yER R T and T is a linear transformation on
Visuch that rank and nullity of T are
H e o S e 2, a1 identical then %
(A) nEH 2 (A) nis even
(B) nfawm 2 (B) nis odd
(C) +ft 7 <t ot forgm (C) some times even some times odd
(D) YU H & S T (D) none of the above
98. ®eH f: R — R, f(x) = sinx; 98. The composite mapping fog(x) of the
9:R - R, g(x) = x2, & it B, &t maps f: R — R, f(x) = sinx; g: R - R,
Bl 1 TS fog(x) B g(x) =2, is
“(A) sin x + x2 (B) (sin x)2 (A) sin x + x2 (B) (sin x)?
(C) sin x2 (D) x2sinx - (C) sin x2 (D) x2 sin x
99. fe f(x) = ax? + 2bx + 1, a 3 b 99. Iff(x) = ax? + 2bx + 1, a and b are
HATCH ST HEATG R A9 b2 < a, positive real numbers and b? < a, then
" ; hich of the following is correct ?
it feferfiaa # = wd g 2 it
(A) f(x) =0V x R (A) tx) =0V xeR
(B) f(x)>0\7’XeR (B) f{x)>OVXER
(C) f(x) <0V xeR (C)fx)<0VxeR
(D) 3T # @ 1§ et (D) None of the above
PG-06/C T 24 0
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100. TS geftgo (3]2‘7%‘

e = dx axt12=0

(A) (y-4x+c)(y‘3)(+c)=o

(B) (y+x+c)(y_X+c)=0
(©) (y+4x+c)(y+3x+c)=0
(D) (V+2x+c)(y+3x+c)=o
@’ﬁmwwmgoﬁjﬁ_mm
AT I 4 3,
T e T 7 2

@ 5

101.

W[

(B)

© 3
Hﬁw,w@mmﬁr,eﬁ
T+w+w2+wdy +W52 w1 SR
(A) w B) 1-w

(C) —w? (D) 1+w?

©

IR

102.

103. W@y = mx + 1 TEed y2 = 4x i w99l
g, af
(A) m=1 (B) m=2

(D) m=-2

104, j%

3
(cos 26)2 cos df T T &
0 ¢

® 7 ® 75
3n
8

(D)

g‘m@

3n
©) T62
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Q\. o e Q v, L) L%
R ~ion
Th oqud" i
@ solution of differential 5

dy)* __d b
(d—x) -7 1 12-0is & ale

dx o é"(ll b,(\"
(A) (Y—4x+c)(y—3x+c)’ K76 )
PR @ i e o \

(B) (V+X+c)(y—x+c)=0 26
(C) (y+4x+0)(y+3x+0) =0
() (y+2x+0) (y+3x+0) =0

100.

A sphere after collision with 2 P‘a::]
vertically downwards with velocity 20 °
per second returns upwards with vel

4 cmisecond then the value of the

coefficient of restitution e is
! Sy |
®) 3 B) 3 ¥ :
1 1 /@ I
©) 3 (O e |
v
If w is cube root of unity, then : \/\/ ‘
AW w2 WS + w52 w=1is !

101.

BN

102.

equal to |
(A) w (B) 1-w % ‘
(C) —w? (D) 1 +w?

&)

103. Theliney = mx + 1 is a tangent to the
parabola y2 = 4x, if . \,35'1/
(A) m=1 (B) m=2 o+
(C) m=—1 (D) m=-2 ,+/v;_
% > 8
104. j (cos20)2 cos® dé is equal to
0
= RSy o BN
A 7 B 7 =
©) —= @) =
= 8
162 (
2 \m Q) I
Q| QN _ O aaln 8 v
25 (%-® 2 "Yhaceic
2
-4 daliChe
b a5 O
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(D) |2 10 16
3 12 18

106. Afe f(x)=
(A) O (B) ab
(C) a+b (D) ab(a+ b)
107. 3t Heifsrg W, 3787 z 318 qerm sTSefs
aﬁm%%@mmﬁ@aﬂwﬁ?ﬂw%
(A) X°+22=y2  (B) y2+x2=22
(C) 22+y2=x2 (D) xy =22
108. TS AdH uEehi P, Q, R Sfia i
as: S, 1w L #ieiads
T fopeft oft erereh & 7 St 1 sfrehar 2
® 2

&

ae® +be ?ﬁf”(O) 2

13
B) 50

©:
(D). 390 | @ IS AL

@iy

e\
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A\'Q ’(Wl 6)
-y A '\aj .

4 4
The sum of |2 7( and |5 ,z
e
will be . L
(A) zero ~1 t24 4’7)\"3)
S8 4
G}
®) [7 10 16 (“t 3
10 12 18 f:ﬂﬂ
S 4 a
(©) | 77 5 R»b °ff3
10 6 9 o & &)
\'\ 64
1—8 14 (2)
(D) 12 10 16| 12 5 s
Sifoagsl .
ae® + be®
B () E=t 1
(x) = then 7(0) equals
(A) 0 (B) ab
(C) a+b (D) ab(a +b)

The equation of a right circular cone
with vertex at the origin the axus the z

axis and semi vertical angle - is

(A) x2+z2=y2 (B) y2+x2=272
©) 22+y2=x2 (D) xy=22

The probabilities of winning a race by

U9 1
three racers P, Q, R are = 3 4and 5

respectively. The probability of none
of them wins in the race is

]
= \

(A) 5 5 ¥ ‘i*‘?
8!

®) 50 ’\I»
2

(C) 5

(D) None of the above
el an et
/

" m
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109. .
l aﬁ)’—ﬂ?ﬁ!x 0w k_\f“i"“*""‘}‘ | o ax
(s o) dy 4+ 1 + y2) oX g W"I 109. Ify = —1 when x = 0 then th@ s0 Ity '/er
9 TR =0 & of the differential equation i e
V) (A) tan-y 4 tan-1 ac (l+/eﬁ)_dy+(1 +y2) e dx = Y
(B) tan-! o (A) tan”'y + tan~! e¥= 0 e
5 C) an-1 Xy +tan=1 ex _ e xy+E;-Tex¥0
3 © tanly +tan~1 (uem e =lay 440!
?) (D) Wﬁﬁﬁg:@ (C) tan’y+tar3 (xe )= Az pral
110 . (D) none of the above A9 =
© V=8 (a, by g o
1 . i ; - ae
3 ) Tefteor @ ST9%s | 110. The differential equation ?f y )
g P : (a and b are parameters) is % &
g (A y— =Y 2,2 ()
= ) [dsz 4 (U)) (A) yg_yztg_z_] é cr
5 X dx = &l
: SR S o
®) y LY _(dy)? ?y (dy) s
dx®  (dx ) ®) —2=(—) 2,
T dx dx \ /é‘f‘
& S S 344 Jotine: = wz“;‘
© y(d—) == U ©) y(d_y) 598, v o
s 1% @ 8%, gyt SN
: 22 = . “‘ %,:\k 58
SRy Gy dcyal Wy'l'E -\ A
B o) - orils) & B
1. IR T @y = mx, 70 111. If the straight line y = mx lies outside
X2 +y2— 20y + 90 = 0 % W= @ 2, the circle x2 + y2— 20y + 90 = 0, then
Al m &1 A Gqw 4T the value of rfi will satisfy
v (A) Im| <3 (B) m<3 (A) |m| <8 (B) m<3
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113. wﬁf(2)=4amr(2)=1ﬁ
fim X1(2)~21(x)
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116. oS4y =7 Sreafyes Wi 2

(A) esinxcoshy [cos(cosx sinhy)]
(B) eSinxcoshy [sin(cosx sinhy)]
(C) ecosxsinhy [cos(cosx sinhy)]

(D) ecosxsinhy [sin(cosx sinhy)]
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Iff(2) = 4 and f/(2) = 1 then
fim xf(2)-2f(x) is equal to

X2 X=2

(A) 2

(B) 0

©) 1

(D) 4

If normal at any point P of a comn
catenary meets the directrix at Q :
p is the radius of curvature of

Catenary at P then PQ is equal to

(A) p

(C) ctany

(B) csecw
(D) c2secy
The coefficient of x" in the expansi
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(D) None of the above
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The real part of eSNCHY) is

(A) esinxcoshy roog(cosx sinhy)]
(B) es"’_"ﬂ [sin(cosx sinhy)]
(C) ecosxsinhy [cos(gosx sinhy)]

(D) e°osxsinhy [sin(cosx sinhy))
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direction cosines satisfy the edY2
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(A) 45°
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The value of 6[ T4 16 dxis equal to
T Ls
A) 3 B)fol s
o B
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Let T be a linear transformation from
RS — R2, defined by T (x, y, 2) =

(X + vy, y — z) then the matrix T with
respect to the ordered basis {(1, 1, 1),

—

(1,=1,0), (0, 1,0} and {(1,1), (1, O)} is’
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122. IR Ay Ba‘q&a’qu% 5 122. If A and B are two sets such tha.t
N(A) = 4, n(B) = 31 n(ANB) 1 TETH n(A) = 4, n(B) = 3 then the maximui
o= R value of n(AnB) is
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